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Sentence Match Quiz for Category: present_ar_verbs_1 
Mark the sentence that matches each item below. 

1) Eugenia y Ana se hablan todos los días.
- A: The less one travels, the less one likes to travel.
- B: Eugenia and Ana talk to each other every day.
- C: The teacher says that we need a sheet of paper.
- D: The students speak Spanish in the class.

2) El profesor dice que nosotros necesitamos una hoja de papel.
- A: The teacher says that we need a sheet of paper.
- B: Eugenia and Ana talk to each other every day.
- C: María, Luis and José walk to the mountain.
- D: I need paint for the interior, for a new house.

3) Cuanto menos viaja, menos le gusta viajar.
- A: The less one travels, the less one likes to travel.
- B: We make this with a computer integrated system.
- C: He only works in the morning.
- D: The students speak Spanish in the class.

4) Este carro usa muy poca gasolina.
- A: This car uses very little gasoline.
- B: The clever one comes onto the scene.
- C: We pay for lunch.
- D: I work in the factory.

5) Los alumnos hablan español en la clase.
- A: The students speak Spanish in the class.
- B: The less one travels, the less one likes to travel.
- C: I walk to the restaurant to have dinner.
- D: The teacher says that we need a sheet of paper.

6) Las sandalias me aprietan un poco.
- A: The sandals squeeze my feet a little.
- B: I work in investments.
- C: We need to speak with the teacher tomorrow.
- D: Eugenia and Ana talk to each other every day.

7) Llevo tres días con los mismos síntomas.
- A: Take a night flight, it will cost you less.
- B: I work in the factory.
- C: I've had the same symptoms for three days.
- D: We need to speak with the teacher tomorrow.

8) ¿Desea un vehículo de 3 ó 5 puertas?
- A: The less one travels, the less one likes to travel.
- B: Would you like a 3 or 5-door car?
- C: The students speak Spanish in the class.
- D: No way, we need to travel the day after tomorrow.

9) Os pagamos la comida.
- A: Eugenia and Ana talk to each other every day.
- B: The teacher says that we need a sheet of paper.
- C: We pay for lunch.
- D: The less one travels, the less one likes to travel.
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(continued) Sentence Match Quiz for Category: present_ar_verbs_1 
Mark the sentence that matches each item below. 

10) María, Luis y José caminan a la montaña.
- A: María, Luis and José walk to the mountain.
- B: Take a night flight, it will cost you less.
- C: I've had the same symptoms for three days.
- D: Eugenia and Ana talk to each other every day.

11) El listo entra en escena.
- A: We pay for lunch.
- B: The clever one comes onto the scene.
- C: I walk to the restaurant to have dinner.
- D: The sandals squeeze my feet a little.

12) Necesito pintura para el interior, para una casa nueva.
- A: The students need to read the page.
- B: I need paint for the interior, for a new house.
- C: Would you like a 3 or 5-door car?
- D: Eugenia and Ana talk to each other every day.

13) Yo camino al restaurante para cenar.
- A: I walk to the restaurant to have dinner.
- B: Eugenia and Ana talk to each other every day.
- C: He only works in the morning.
- D: I need lumber today.

14) Necesita análisis de sangre.
- A: You need a blood test.
- B: Would you like a 3 or 5-door car?
- C: We pay for lunch.
- D: This car uses very little gasoline.

15) Busco un trabajo facilito.
- A: We pay for lunch.
- B: We make this with a computer integrated system.
- C: I'm looking for an easy job.
- D: The sandals squeeze my feet a little.

16) De ningún modo, necesitamos viajar pasado mañana.
- A: Eugenia and Ana talk to each other every day.
- B: No way, we need to travel the day after tomorrow.
- C: I need lumber today.
- D: We pay for lunch.

17) Sólo trabaja por la mañana.
- A: He only works in the morning.
- B: This car uses very little gasoline.
- C: Eugenia and Ana talk to each other every day.
- D: My mother arrives in April.

18) Nosotros necesitamos hablar con el profesor mañana.
- A: María, Luis and José walk to the mountain.
- B: We need to speak with the teacher tomorrow.
- C: No way, we need to travel the day after tomorrow.
- D: Eugenia and Ana talk to each other every day.



Name:_______________________________________________ Date:______________

Copyright © 2025 - 123TeachMe.com efad0 3

(continued) Sentence Match Quiz for Category: present_ar_verbs_1 
Mark the sentence that matches each item below. 

19) Trabajo en la fábrica.
- A: Eugenia and Ana talk to each other every day.
- B: I work in the factory.
- C: We pay for lunch.
- D: The bus is arriving. Let's get on.

20) El avión llega a las tres.
- A: The plane arrives at 3 o'clock.
- B: I need lumber today.
- C: Eugenia and Ana talk to each other every day.
- D: The clever one comes onto the scene.

21) Entonces, nosotros necesitamos ver el mapa.
- A: Take a night flight, it will cost you less.
- B: I need paint for the interior, for a new house.
- C: Then, we need to see the map.
- D: Eugenia and Ana talk to each other every day.

22) Yo necesito leer un artículo para la clase de historia.
- A: The students speak Spanish in the class.
- B: I need to read an article for history class.
- C: Eugenia and Ana talk to each other every day.
- D: We pay for lunch.

23) Trabajo en inversiones.
- A: The plane arrives at 3 o'clock.
- B: I work in investments.
- C: The clever one comes onto the scene.
- D: Then, we need to see the map.

24) El bus llega. Vamos a subir.
- A: I work in the factory.
- B: The bus is arriving. Let's get on.
- C: Eugenia and Ana talk to each other every day.
- D: The less one travels, the less one likes to travel.

25) Toma un vuelo nocturno, te costará más barato.
- A: Take a night flight, it will cost you less.
- B: The plane arrives at 3 o'clock.
- C: María, Luis and José walk to the mountain.
- D: We pay for lunch.

26) Nosotros tomamos muchos refrescos.
- A: The teacher says that we need a sheet of paper.
- B: The bus is arriving. Let's get on.
- C: I work in the factory.
- D: We drink a lot of sodas.

27) Nosotros caminamos al supermercado.
- A: We pay for lunch.
- B: The teacher says that we need a sheet of paper.
- C: We walk to the supermarket.
- D: Eugenia and Ana talk to each other every day.
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(continued) Sentence Match Quiz for Category: present_ar_verbs_1 
Mark the sentence that matches each item below. 

28) Nosotros fabricamos ésto con un sistema integrado por computadora.
- A: We make this with a computer integrated system.
- B: He only works in the morning.
- C: Would you like a 3 or 5-door car?
- D: No way, we need to travel the day after tomorrow.

29) Hoy necesito madera.
- A: I need lumber today.
- B: Take a night flight, it will cost you less.
- C: Eugenia and Ana talk to each other every day.
- D: The less one travels, the less one likes to travel.

30) María camina al hospital.
- A: María walks to the hospital.
- B: We pay for lunch.
- C: I need to read an article for history class.
- D: Would you like a 3 or 5-door car?

31) Los alumnos necesitan leer la página.
- A: The students need to read the page.
- B: The teacher says that we need a sheet of paper.
- C: The students speak Spanish in the class.
- D: I'm looking for an easy job.

32) Mi madre llega en abril.
- A: No way, we need to travel the day after tomorrow.
- B: My mother arrives in April.
- C: This car uses very little gasoline.
- D: Eugenia and Ana talk to each other every day.
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Answer Key for Worksheet efad0

Sentence Match Quiz starting on page 1
1 = B , 2 = A , 3 = A , 4 = A , 5 = A , 6 = A , 7 = C , 8 = B , 9 = C , 10 = A , 11 = B , 12 = B , 13 = A , 14 = A , 15 = C , 16 = B ,
17 = A , 18 = B , 19 = B , 20 = A , 21 = C , 22 = B , 23 = B , 24 = B , 25 = A , 26 = D , 27 = C , 28 = A , 29 = A , 30 = A , 31 =
A , 32 = B


